Basics of Banach algebras & Gerfand map

4

Definition: (A, IIII) is called Baned algebra, if a Ars an assoc.
R/C-algebra, III: A-7 R20 is submitted free dive
voru (Ilabil ≤ IlaIIIIbili, a, b ∈ A) and
(A, IIII) is complete.
Permoto: Associa two R-algebra A (Risavitz) is a vite;
and an R-workle, with the compatibility
conditions:
r (ab) = (ra)b = a(rb), a, b ∈ A, r ∈ R
2) williplication: Ilaub, - Robol = Ilaub, a, bota, bota, boto, aboto, and
Stan (ba-bol) + Ilau-a) boll. Continuous.
Bounded >>0 >0
(Im > bond)
Definition: A Banad elg.
$$\Delta_A := San: A 7C [$$
 in homom of
and a vector spect : w+(-w) = 0 $\neq \Delta_A$ (r F A ≠ c) thet
(m·m)(a) = m(a) m(a), a ∈ A, (2m)(a):=2m(b), 2EP/C.
(m·m)(a) = m(a) m(a), a ∈ A, (2m)(a):=2m(b), 2EP/C.
Peri: A cost a vector spect : w+(-w) = 0 $\neq \Delta_A$ (r F A ≠ c) thet
supposed). Homom af also : m(2a) = m(b) = m(b) m(b)
Ang mentation: A Ban-adg (own C) ; A:= A×C ⊂ A ⊕ C
(a, N)(a) = (a) + kb + 15a + xb), a = 6x, n Res.
(a, N)(a) = (a) + kb + 15a + xb), a = 6x, n Res.
(a, N)(b, B) = (a) + kb + 15a + xb), a = 6x, n Res.
(a, N)(b, B) = (a) + kb + 15a + xb), a = 6x, n Res.
(a, N)(- = (a, N)(- - (a)) (a) = (a, n)(- - (a, n))(- (a)) = (a, n)(- (a, n))(- (

Permul: Continuity of inverse:

$$3.5.$$

$$b \rightarrow a: |a^{n} - b^{n}| = |b^{n} (b - a) a^{n}| = |b^{n} - a^{n}| (b - a) a^{n} + a^{n} (b - a) \overline{a^{n}}|$$

$$\leq |b^{n} - a^{n}| |b - a| |a^{n}| + |b - a| |a^{n}|^{2}$$

$$|a^{n} - b^{n}| (1 - |b^{n} - a| |a^{n}|) \leq |b^{n} - a| |a^{n}|^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}| |x|| = |b^{n}| |a^{n}|^{2}$$

$$= \frac{1}{2} (a^{n} b^{n})^{n}$$

$$\implies |a^{n} - b^{n}| |x|| = |a^{n}|^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}| |x|| = |a^{n}|^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}| |x|| = |a^{n}|^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2} |x||^{2} |x||^{2} |x||^{2}$$

$$\lim_{x \to a \in \mathbb{R}} \int |a^{n} - b^{n}|^{2} |x||^{2} |x$$

$$T_{A}(a) \underbrace{\mathsf{Clostd.}}_{\mathsf{lostd}} (\mathfrak{gl}^{\mathsf{lost}}) = e \ \text{lienwann ser.} \qquad 4$$
2) $\lambda \in \mathbb{C}$ $\cdot |\lambda| > ||a|| : ||\lambda|^{-1} a|| < 1 \Rightarrow 1 - \lambda^{-1} a \ \text{invertible}$

$$\Rightarrow \lambda 1 - a = \lambda(1 - \lambda^{-1} a) \quad (\lambda + \mathfrak{d} \cdot \mathsf{e}(\lambda) > ||a|| F)$$
ister assured $\Rightarrow \lambda u a t \ iu \ spectr. \Rightarrow \mathfrak{I}_{A}(a) \leq B_{AB}(0) \leq \mathbb{C}$
bounded.
$$\underbrace{\mathsf{bruded.}}_{\mathsf{lostd}} (\mathfrak{o}) = \mathfrak{o} = \mathfrak$$

)))

> --

Brewerd: holowing plurity of
$$\frac{1}{a-7}$$
.
4.5
bin
a-7b $\frac{1}{a-7}$ = $\frac{1}{a-7}$ $\frac{(a-7)(a-7b)}{(a-7)(a-7b)}$ = $\frac{1}{a-7b}$ $\frac{1}{(a-7)(a-7b)}$ = $\frac{1}{a-7b}$ $\frac{1}{(a-7)(a-7b)}$ $\frac{1}{(a-7b)}$ = $\frac{1}{a-7b}$ $\frac{1}{(a-7b)}$ $\frac{1}{(a-7b)}$ = $\frac{1}{a-7b}$ $\frac{1}{(a-7b)}$ $\frac{1}{(a-7b)}$ = $\frac{1}{(a-7b)}$ $\frac{1}{(a-7b)}$ = $\frac{1}{a-7b}$ $\frac{1}{(a-7b)}$ = $\frac{1}{a-7b}$ $\frac{1}{(a-7b)}$ = $\frac{1}{a-7b}$ $\frac{1}{(a-7b)}$ = $\frac{1}{a-7b}$ $\frac{1}{(a-7b)}$ = $\frac{1}{a-7b}$ = $\frac{1$

$$\frac{bel}{c} := \forall u \in A(suitel) Bausd dytora
F(a):= sup $\frac{1}{2} \frac{1}{2} \frac{1}{2} \frac{c}{2} \frac{c}{4} a^{3} \frac{1}{2} \in \mathbb{R}^{20}$ rs called

$$\frac{1}{2} \frac{1}{2} \frac{1}{2} \frac{1}{2} \frac{c}{2} \frac{c}{4} a^{3} \frac{1}{2} \in \mathbb{R}^{20}$$
 rs called

$$\frac{1}{2} \frac{1}{2} \frac{1}{2} \frac{1}{2} \frac{c}{4} \frac{1}{4} a^{3} \frac{1}{2} \in \mathbb{R}^{20}$$

$$\frac{1}{2} \frac{1}{2} \frac{$$$$

$$\frac{|r|^{n}}{|r|^{n}} \frac{|r|^{n}}{|r|^{n}} \frac{|r|^{n}}{|r|^{n}} \frac{|r|^{n}}{|r|^{n}} \frac{1}{|r|^{n}} \frac{|r|^{n}}{|r|^{n}} \frac{1}{|r|^{n}} \frac{1}{|r|^{n}$$

$$\frac{\operatorname{Definition}(\operatorname{Gelfand}(\operatorname{unp}))}{\operatorname{N}: A \rightarrow \operatorname{Friend}(\Delta A)}, \operatorname{N}(A):= \widehat{A} \xrightarrow{A} \operatorname{Cond}(\operatorname{unp}):= \operatorname{unf}(A)}{\operatorname{Gelfand}(\operatorname{unp})}, \operatorname{N}(A):= \widehat{A} \xrightarrow{A} \operatorname{Legedgend}(\operatorname{unp})}{\operatorname{Gelfand}(\operatorname{unp})}, \operatorname{Let} A \operatorname{Le} \operatorname{Bauad}(\operatorname{elgebn}), \operatorname{Len}}{\operatorname{Len}}, \operatorname{Len}, \operatorname{Len}(\operatorname{Con}(\operatorname{Lef}(\operatorname{Gelfand}(\operatorname{unp})))) \xrightarrow{A} \operatorname{Len}(\operatorname{Lef}(\operatorname{$$

$$bef : A Bauada aleg.$$

$$A Bauada aleg.$$

$$A Bauada aleg.$$

$$aud nsouthy of (A || ||), ie. || a || = || * a ||$$

$$aud nsouthy of (A || ||), ie. || a || = || * a ||$$

$$bun : * * a = a, * (ab) = *b * a & * (a + > b) = a + (a + = a + a + (a + > b) = a + (a + a + = a + (a + = a + (a$$

Corollary of no radius thue.: If A wa
$$C^*$$
-algebra \Rightarrow
 $r(a) = ||a||, a uorual (norual = aa^* = a^*a).$
 $r(a) = ||a||, a uorual (norual = aa^* = a^*a).$
 $r(a) = ||a||, a uorual (norual = $aa^* = a^*a).$
 $r(a) = ||a||, a uorual (norual = $aa^* = a^*a).$
 $r(a) = ||a||, a uorual (norual = $aa^* = a^*a).$
 $r(a) = ||a|| = him ||a^2|||^{\frac{1}{2m}} = r(A)$
 $r(A) = ||a||^2 ||a||^{\frac{1}{2m}} = r(A)$
 $r(A) = him. (+proof of it)$
 $r(A) = him. (+proof of$$$$

Lemmal: Each maximal was from the set for a = themeouser
physical set
$$A \to G$$
 (e.g. homous.)
Proal : 1) $m \neq 0$ km m maximal for dimensions
 $A \cong km m G Im m'$
 $\cong C$
2)
Lemmal 2 If A uprover to a G
 $a noninv. \implies A a proper.$
 $froal : a) & ariuv. \implies 1 = a a \in I \implies b = b.1 \in I$
 $b) = A = A a \implies 1 \in A a \implies 1 = a'a = aa'$
 $\forall b \in A.$
 $b) = A = A a \implies 1 \in A a \implies 1 = a'a = aa'$
 $\exists ariuv.$
Lemmal: A: comm. with runt. $\forall a \in A :$
 \Box
 $froal : Im \hat{a} = f \hat{a}(m) \mid Me \triangle A \} = fm(a) \mid M \in \triangle A \}$
 $Proof: Im \hat{a} = f \hat{a}(m) \mid Me \triangle A \} = fm(a) \mid M \in \triangle A \}$
 $m(m(a)I - a) = 0 \implies m(a) F a \in Kar mv$
 $m(m(a)I - a) = 0 \implies m(a) F a \in Kar mv$
 $m(m(a)I - a) = 0 \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) \in \sigma(a) \Rightarrow A(a-M)$ proper
 $m(a) 1 - a non inv. \implies m(a) = A \Rightarrow A(a non inv. \implies A(a) =$

Event:
$$\widehat{a^*}(m) = \widehat{a}(m) = \widehat{a}($$

3) $\hat{\alpha} \in \hat{A} \subseteq \mathcal{E}_{0}(\Delta_{A})$ $\hat{\alpha}^{*} = \hat{\alpha}^{*}$ by reality lumma. Thus $\hat{A} \subseteq \mathcal{E}_{0}(\Delta_{A})$ is duck by the Stone-Weierstrass theorem. It is also closed since $\hat{\alpha}$ is an iso metry. $=\hat{A} = \mathcal{E}_{0}(\Delta_{A})$, thus $\hat{A} \cong \mathcal{C}(X)$.

Poutrjagin duality & Poisson fulle 1) Gabelian locally compact 2) $\hat{G} := \hat{G}_{f,d}$, Repr. of ablian: $\hat{G}_{\beta} = \hat{G}_{1-dim}$. Take Recall $g_{11}g_2: G \rightarrow Aut(\mathcal{C}) k g_1 \cong g_2 \Longrightarrow g_1 = g_2.$ 3) $\hat{G} \subseteq C(G, C)$. On C(G, C) take compact -open lopology = G is a locally compact Hausdoff spoce. 4) Recall: Ĝisagroup (2;2)(g):=2,(g)2,(g) $[\chi_{i}(\chi_{2},\chi_{3})](g) = \chi_{1}(g)(\chi_{3})(\chi_{3}) = (\chi_{1}(g)\chi_{2}(g))(\chi_{3}(g)) =$ $= \{(\chi_1, \chi_2), \chi_3\}(g) \quad \forall g \in G$ $\chi^{-1}(g) := \chi(g)^{-1}$, $e(g) := 1 \in \mathcal{O}$ k igj-nig) , v
Not dificult · k⁻¹ continuous => Gisalocally
Not dificult · k⁻¹ continuous => Gisalocally
acid avoup ; alor eany Giss abblian (time Cris). E
acid => d
acid => d
acid => Autility
Giss alocally => (G)
again a loc. cpt. abelian. a: (A)=? 7) $S:G \rightarrow \widehat{G}$ $S(\widehat{g})(\chi), g\in G, \chi \in \widehat{G}$ $\vec{\varepsilon} \quad \underbrace{S(g)(\chi)}_{\alpha} = \chi(g).$ Poutrijaginmap. 8) $\delta(g)(\chi_{\mu}) = (\chi_{\mu})(g) = \chi(g)(\mu | g) = \delta(g)\chi \cdot \delta(g)\mu$ => E(g) homom.

(1) Sjehomom.:
$$[S(gh)](\lambda) = \chi(gh) = \chi(g)\chi(h)$$

 $= S(g)(\lambda) \cdot S(h)(\lambda) =$
 $= [S(g) \cdot S(h)](\lambda) \quad \forall \chi$
 $S(gh) = S(g) \cdot S(h) \quad \forall g, h \in S$
10) $S(g)$ is cout. $: \chi_i \rightarrow \chi_j$ lim $[S(g)(\chi_i)] =$
 $= \lim [\chi_i(g)] = \chi(g)$.
Poutrjagin thum: Gloc.cpt.abelian. Then
 $S: G \rightarrow \widehat{G}$ is an isomorphism,
 $g \neq Jopological groups (outo \widehat{G})$.

$$\frac{\operatorname{Proof}: \operatorname{Deithm} / \operatorname{Echt}}{\mathbb{E} \times \operatorname{auples}: 1} \xrightarrow{\widehat{S}^{1} \cong \widehat{Z} \cong \widehat{S}^{1}} \xrightarrow{\operatorname{S}^{2} \cong \widehat{S}^{1}} \xrightarrow{\operatorname{S}^{2} \cong \widehat{S}^{1}} \xrightarrow{\operatorname{S}^{2} \cong \widehat{S}^{1} \cong Z} \xrightarrow{\operatorname{S}^{2} \cong \widehat{S}^{1} \cong Z} \xrightarrow{\operatorname{G}^{2} \cong$$

Remark:
$$G cpt.ab. \Rightarrow \widehat{G}$$
 discrete abd.
 $G distr. abd \Rightarrow \widehat{G}$ compact abd.
 $Prisson summation$
1. $f: R \to G$ $q(x) := Z f(x+e)_1 x \in R$ () Assume Z
 $contain. $e \in Z$
 $contain. e \in Z$
 $converges absolutely.$
2. q is 1-periodic.
Four. services of $q: q(x) = Z c_e e^{2\pi i t_x} (\bigcup_{uppose}^{uppose} f(x) = q(x) = Z c_e e^{2\pi i t_x} dy)$
 $3. Z f(e) = q(o) = Z c_e = Z \int g(g) e^{-2\pi i t_y} dy$
 $3. Z f(e) = q(o) = Z c_e = Z \int g(g) e^{-2\pi i t_y} dy$
 $4. Z f(y+e) e^{-2\pi i t_y} dy = (3) assume.$
 $f \in G = 2f(y+e) e^{-2\pi i t_y} dy = (2) assume.$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy = (2) f(y) e^{2\pi i t_y} dy$
 $4. Z f(y) e^{2\pi i t_y} f(y) e^{-2\pi i t_y} dy = (2) assume.$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy = (2) assume.$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy = (2) e^{2\pi i t_y} dy$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy = (2) e^{2\pi i t_y} dy$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy = (2) e^{2\pi i t_y} dy$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy = (2) e^{2\pi i t_y} dy$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy = (2) e^{2\pi i t_y} dy$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy = (2) e^{2\pi i t_y} dy$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy = (2) e^{2\pi i t_y} dy$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy = (2) e^{2\pi i t_y} dy$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy = (2) e^{2\pi i t_y} dy$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy$
 $4. Z f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy$
 $4. Z f(y) = 2 f(y) e^{2\pi i t_y} e^{-2\pi i t_y} dy$
 $4. Z f(y) = 2 f(y) e^{-2\pi i t_y} dy$
 $4. Z f(y) = 2 f(y) e^{-2\pi i t_y} dy$
 $4. Z f(y) = 2 f(y) e^{-2\pi i t_y} e^{-2\pi i t_y}$$

5.
$$B \subseteq A$$
 cloud endor. of loc. coup. abel. A
 A/B abelian, brological, moreover locally cpt.
6. $B^{\perp} := \{ ? \in A \mid \mathcal{X}(h) = 1 \forall h \in B \}$; $f \in L^{1}(A)$
 $f^{B} : A/B \rightarrow G$ def. $f^{B}(aB) := \int f(ab) d\mu(B)$
 $f^{B} : A/B \rightarrow G$ def. $f^{B}(aB) := \int f(ab) d\mu(B)$
Thum (arroup verifies of Prisson summ): $\hat{f}^{B} = \hat{f}_{1B}^{\perp} = \lambda$
 $\int f(ab) d\mu_{B}(b) = \int \hat{f}(x) \chi(a) d\mu_{B}(x) \forall a.e.a.$
 $\int f(ab) d\mu_{B}(b) = \int \hat{f}(x) \chi(a) d\mu_{B}(x) \forall a.e.a.$
 $f(ab) d\mu_{B}(b) = \int \hat{f}(x) \chi(a) d\mu_{B}(x) \forall a.e.a.$
 $f(ab) d\mu_{B}(b) = \int \hat{f}(x) \chi(a) d\mu_{B}(x) \forall a.e.a.$
 $f(ab) d\mu_{B}(b) = \int \hat{f}(x) \chi(a) d\mu_{B}(x) \forall a.e.a.$
 $f(ab) d\mu_{B}(b) = \int \hat{f}(x) \chi(a) d\mu_{B}(x) \forall a.e.a.$
 $f(ab) d\mu_{B}(b) = \int \hat{f}(x) \chi(a) d\mu_{B}(x) \forall a.e.a.$
 $f(ab) d\mu_{B}(b) = \int \hat{f}(x) \chi(a) d\mu_{B}(x) \forall a.e.a.$
 $f(ab) d\mu_{B}(b) = \int \hat{f}(x) \chi(a) d\mu_{B}(x) \forall a.e.a.$
 $f(ab) d\mu_{B}(b) = \int \hat{f}(x) \chi(a) d\mu_{B}(x) \forall a.e.a.$
 $f(ab) d\mu_{B}(b) = \int \hat{f}(x) \chi(a) d\mu_{B}(x) \forall a.e.a.$
 $f(ab) d\mu_{B}(b) = \int \hat{f}(x) \chi(a) d\mu_{B}(x) \forall a.e.a.$
 $f(ab) d\mu_{B}(b) = \int \hat{f}(x) f(a) d\mu_{B}(x) \forall a.e.a.$
 $f(ab) d\mu_{B}(b) = \int \hat{f}(x) f(a) d\mu_{B}(x) \forall a.e.a.$
 $f(ab) = \sum_{k \in \mathbb{Z}} f(a) f(a) d\mu_{B}(b) = \sum_{k \in \mathbb{Z}} f(b) f(a) d\mu_{B}(x) \forall a.e.a.$
 $f(ab) = e^{-2\pi i M} f(a) = \sum_{k \in \mathbb{Z}} f(a) f(a) f(a) d\mu_{B}(x) = \sum_{k \in \mathbb{Z}} f(a) f(a) d\mu_{B}(x)$

Application of classical Poiss. sny. $\frac{p_{ef}}{p_{ef}}: \bigoplus(t) := \sum_{k \in \mathbb{Z}} e^{-\pi t k^{2}} \underbrace{t > 0}_{k < 1} \text{ so called f-function,}$ $\frac{k \in \mathbb{Z}}{k \in \mathbb{Z}} = \frac{2\sum_{k \in \mathbb{Z}} e^{-\pi t k^{2}} + 1}{e^{-\pi t (k+1)^{2}}} e^{-\pi t (2k+1)} \leq \frac{\pi t (2k+1)}{q_{k}} \leq \frac{\pi$ $e^{-\pi t} < 1$ Known formulas: $(T_{\alpha}f)(x) := f(T_{\alpha''}(x))$ $b^{\alpha} := \frac{2^{i\alpha}}{2x^{\alpha_1} \cdots 2x^{\alpha_n}} \quad f \circ D^{\alpha} = (\pm 2\pi i \xi)^{\alpha} f$ Fota=et2nia3 F R. E.C. Dilation: a>0 Sa(x):= ax, xER $(\mathcal{S}_{a}f)(x) := f(\mathcal{S}_{a}, x) = f(a^{x}).$ Lemma: Fosa=amsioF. <u>Proof</u>: $[(F \circ S_a)(f)](g) = [ff(a^{-})](g) =$ $= \int f(a^{1}x) e^{-2\pi i x} dx = \int \int a^{n} dx$ $= \int f(y) e^{-2\pi i y a \cdot \xi} a^{n} dy =$ $= a^{m} \int f(y) e^{-2\pi i a y} \xi dy = a^{n} \hat{f}(a\xi) =$ $= \alpha^{n} \left(\delta_{\Delta} \hat{f} \right) \left(\xi \right) . \Box$

$$\frac{\text{Thm.:}}{\text{Proof: a)} \left(\frac{1}{t}\right) = \text{Te} \bigoplus(t) \quad \forall t > 0 \quad (\text{so called hard ruvaniana})$$

$$\frac{\text{Proof: a)}}{\text{Proof: a)} \left(\frac{1}{t}(x) := e^{-\pi t^2 x^2}, \text{ord friend}\right) \quad exc.$$

$$(f_n(x) = e^{-\pi x^2}, \text{ord friend}) \quad exc.$$

$$Ff_t = F \int_{a} \int_{a} \int_{a} \int_{a} \int_{b} \int_{b} \int_{c} \int_{c} f_{a} = \int_{c} \int$$